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Question 1.

How did Gandhiji spent his 1st year in India?

Answer:

Mahatma Gandhi spent 1st year in India by traveling throughout the
country.

Question 2.

Which dates is observed as a day of non-violent opposition to the
Rowlatt Act?

Answer:

6 April 1919.

Question 3.

How many delegates from all over India met at Bombay in 18857
Answer:

72 delegates.

Question 4.

What is meant by the concept of Poorna Swaraj?
Answer:

It means complete independence.



Question 5.

What does RSS stands for?

Answer:

It stands for Rashtriya Swayam Sevak Sangh.

Question 6.

What was the demand of ‘Assam tea garden labours?
Answer:

The demand was for the increase in the wages.

Question 7.

What does CPI stands for?

Answer:

CPI stands for Communist Party of India.

Question 8.

Describe the event of Gandhiji’s arrival to India from South Africa.
Answer:

Gandhiji, at the age of 46, arrived in India in 1915 from South Africa. He
led Indians in South Africa in non-violent marches against racist
restrictions. He was already a respected leader known internationally.
His South African campaign brought him in contact with various types of
Indians.
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